Deriva les segiients funcions (1):
fx) =5x°-3x+3x-2
f(x) = sin x - cos x

f(x) = 3-cos(x)

flx)

i

f(x) = sin(x)-(3x+1)

f(X) =x?—3x+12
f(x) = cos(3x)
f(x) = 2"

f(x) =InB3x-1)
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fx) =€

Deriva les segiients funcions (2):
fx) = xX*=2x-2

f(x) = sinx + In (x)

f(x) = 4 tan(x)

x

f =3

f(x) = (’+5x+2)-(3x+1)

f(X =x%+2
f(x) = cos(x’+1)
f(x) = ¢

f(x) =1In(Bx-1)
foo = 2°



Deriva les segiients funcions (3):
fx) = 5x'+2x%~2
fo) = log(x) + In (x)

g =4V =3

X

F)=—-5+5

f(x) = (X°+5x+2)-(3x°+x)
f(x):x'z +2x+4

f(x) =tan(x’+5x+1)
flx) = ¢

f(x)=In(x-1)
fx) = (6x* + 2x — 3)*°°

Deriva les segiients funcions(4):
fx) = 8x°—10 x°+3x*+5x+2
fx) = x + In (x)

f(x) =5 tan(x)

;
flx) =§—2x +4x — 6x

fx) = (X’+8x-2)"(x-1)

2x

f(x —xE+2x+100

f(x) = sin(4x’+1000)
flx) = &
f(x) = (3x - )"

o =2



